normalized x?

< X2/ndf>

Ratio

< Xx2/ndf>

Ratio

$ MEE 4.8 00 .4 8. 0004

2 4 6 8 10 12 14 16 18 20
2

[ normalized

X2 probability ]

0.03,

0.025[-- -

0.02f---

Ratio

.............

" ' u i “ “
! "i il
| HHH
. 1

080
Prob(xz)

0'9% 0.10.2 0. 0.4 0.5 0.6 0.7

mmmmm DQM_original_originalvector_1000evt
e DQM_original_1000evt

m— DQM_fitted4_1000evt

s DQM_fit_nocpe_1000evt

0.4
0.2

h»

T N ﬁ’d

< x2/ndf>

Ratio

[y
T[T [T [T [T T T[T TIT T

-2 -1
10 AR(track, jeg’[s)



	Contents
	Page 1


